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25,0003 * 1000H & 2,500
Odesa WFEI EXIY L AMSI| X
500& * 5000 = 2& » 12000 & 6,000
Al ZO0HM 2t e 6,132 6,132 0
201 L2l 1,400 1,400 0
01 At 2t 2l 1,400 1,400 0
Oalsetdzte] 222 MZA  3,5008 20004 700
OISt ES 7 B A~ CHHE X &
= 10,0002 * 700K 700
202 odl 972 972 0
01 = LH 4 1l 972 972 0
OBF MBS 4257
81,000& = 2 * 2& * 33 972
206 M= Hl 2,040 2,040 0
01 M2 4l 2,040 2,040 0
OnldzE 2t0121E 8 74
8,500 * 80 * 33 2,040
301 LPEXF 1,720 1,720 0
12 JIEtEA 3 1,720 1,720 0
OAHIXA S E2ZAIE &Sl
50,000& = 2% = 10 1,000
OAlE+=)1 3Hd 24
10,000& * 624 = 123] 720
Helolga el XNJAdH 249 216,000 210,000 6,000
= 108,000
< 43,200
Al 64,800
307 glz2+ol & 216,000 210,000 6,000
= 108,000
< 43,200
Al 64,800
05 RIZIRI &3 216,000 210,000 6,000
Ooglol Sa2e XNaHH X3 216,000
= 108,000
< 43,200
Al 64,800
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2AN: FoMEX 3
o NS AL (FULBTAD)
Ee: I3 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OHAEANLRLII A2F 2
200,000 * 6CH * 23] 2,400
O=A(EEl)gxz
220,000& ~ 1CH ~ 12& 2,640
oded4d dxz 50,900& * 12€& 611
OF=1=] 8,000 * 249% x 52 x 12& 11,520
02 3524t 3,840 3,840 0
oRE2 320,000 = 128 3,840
202 04d| 14,160 14,160 0
01 2L Y| 1,920 1,920 0
OHlAZ2 2o b 1,920
02 2 X0 12,240 12,240 0
Of/MAA XNEAH 170,000 » 6Y = 12& 12,240
203 Y2 E X Y| 4,800 4,200 600
04 ENSHLRE=AH| 4,800 4,200 600
OFNM2IIRF&Y| 400,000& * 12& 4,800
oled 2 oy 213,281 182,467 30,814
= 60,779
Al 152,502
Ol 2AH| (SE AL &2l AL) 178,302 149,076 29,226
= 60,779
Al 117,523
101 @121l 165,584 149,076 16,508
= 54,420
Al 111,164
03 BLRAE(RIHX) 22 XNE % 165,584 149,076 16,508
OEs At ZeIAHEEARR, 95 2) 43,042
ollza 2,088,519& ~ 12& 25,063
= 12,531
Al 12,532
oldIZ4E  2,088,519& * 45% x 100% * 23] 1,880
o HAEFIHH| 2,088,519& * 60% * 23| 2,507
cHIsIFsdsY 107,432& » 18L 1,934
cSagasg 50,0002 * 128 600
oXMAXALE 150,000& = 12& 1,800
oE G 90,0008 * 12& 1,080
o HHZAH| 140,000& * 128 1,680
o XA 110,000& = 128 1,320
o JIH 2 X H| 80,000& * 12& 960
cIIExY 120,000& = 12& 1,440
oAt Z22 &  20,143& x 10Al2t ~ 12& 2,418
= 1,209
Al 1,209
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SN FOIMBXED
H: HWRES(FUMBIA)
S WEAHAHX = (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HEHHX = 731,587 671,118 60,469
HEHAH X = 731,587 671,118 60,469
701 JIEtSI HENMES 731,587 671,118 60,469
01 JIEtel N E= 731,587 671,118 60,469
OA=L2SSEH dES 731,587




